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General Instructions :

Read the following instructions carefully and follow them :

(1)
(1)

(iii)
(iv)
(v)

(vi)

This question paper contains 34 questions. All questions are
compulsory.

This question paper contains two Sections A and B.

Section — A : Macro Economics

Section — B : Indian Economic Development

This paper contains 20 Multiple Choice Questions type questions of
1 mark each.

This paper contains 4 Short Answer Questions type-I questions of
3 marks each to be answered in 60 to 80 words.

This paper contains 6 Short Answer Questions type-II questions of
4 marks each to be answered in 80 to 100 words.

This paper contains 4 Long Answer type Questions of 6 marks each to
be answered in 100 to 150 words.

(vii) Attempt all parts of a question together.

Section - A

(Macro Economics)

1. Ms. Iqra Ansari, a teacher, was explaining in her class about various

types of deposits with the commercial banks. She quoted that —

“These deposits form a part of M1 measure of money supply and are

payable on demand by the commercial banks.”

Identify the type of deposits she was explaining about and choose the

correct alternative :

@

Demand Deposits

(1) Time Deposits

(iii) Post Office Deposits

Alternatives :
(@ Only (i) (b) Only (i)
(¢) (1) and (1) (d) (@), (11) and (i11)
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2.  As per the Reserve Bank of India (RBI) press report, dated 22nd June,
2022 : 1
“Net Foreign Portfolio Investment (FPI) recorded an outflow of US$15.2
billion mainly from the equity market.”

The above transaction will be recorded in the account on side

of Balance of payments account of India. (Choose the correct alternative)
(a) current, credit (b) current, debit

(c) capital, credit (d) capital, debit

3. “In the Annual Budget 2022-23, the Government of India set up

disinvestment targets of ¥ 65,000 crore”.

Such proceeds from disinvestment can be classified as __ receipts in the
Government Budget as it leads to ___ of the Government.
(Choose the correct alternative) 1
(a) capital, decrease in assets (b) revenue, increase in assets
(c) capital, increase in liabilities (d) revenue, decrease in liabilities
4. Read the following statements carefully : 1

Statement 1 : The induced consumption shows, the direct relation
between consumption and income.

Statement 2 : With a certain increase in income, induced consumption
also increases.

In the light of the given statements, choose the correct alternative from

the following :

(a) Statement 1 is true and Statement 2 is false.

(b) Statement 1 is false and Statement 2 is true.

(¢) Both Statements 1 and 2 are true.

(d) Both Statements 1 and 2 are false.
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5. Read the following statements — Assertion (A) and Reason (R). Choose one
of the correct alternatives given below : 1
Assertion (A) : The Balance of Payments is in surplus, if autonomous
receipts are greater than autonomous payments.

Reason (R) : Autonomous transactions are determined by the difference
in the Balance of Payments.

Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(¢) Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false, but Reason (R) is true.

6. In order to tackle the problem of rising general price level in an economy,
government may come up with a surplus budget to achieve the budget
objective of ___ . 1
(1) reallocation of resources
(1) price stability

(111) redistribution of income

Alternatives :
(a) (1) only (b) (1) only
(¢) (i) only (d) @) and (1i11)
7. (A) In the Indian economy, are issued by the Reserve Bank of
India and acts as legal tender money. 1

(1) Coins of all denomination
(i1) Currency notes of various denominations, except one rupee note

(111) Demand deposits

Alternatives :
(a) Only () (b) Only (i1)
(¢) Only (ii1) (d) @) and (i1)

OR

58/2/3 1> P.T.O.



(B) Adegeeen A Aifges Aifaesm fmior_ oar/sdt @
(T} farepea gr, Tk worm &1 gfd i)
(a) aTRF S (b)  SHIEHE g1 1Y
OREZ-RECS (d) HEE TR

8. (A Tr=ferRaa sl w1 eamYE® 31 & -

HUA 1 : Fohet Tie] 3carg forelt foreliar o & SR srefeuraen & ot &1 g et
ST fepw T, weft 3ifom aEq3tl 9 A1 % Hehel AR oo T Bt AT BT
2l

FHUA 2 : TR oA W FhA ol ghg (GVAp), TG ST T 3G 6 qodl
% 3T o SIS BT 2 |

few e et % 3reres H, frefeaa § 9w fashew o1 =94 Hifvw

(2) HUYT 1T I HYT 2 3EAE |

(b) HYT 1 IEAR INHYT2 TR |

© HIT1IR2TATAE |

(d) U 13K 2 GHI 3EA & |

AT
B) Hi= fevmu fom & AR W B o D g e0i¥ T TaT8 & YohR hi T8= i :
(TE1 Tarehed 1 =2 )
fereheu : -
(a) dTEdferh JaTg (b) Hifss yaT8
(c) THHE JeITg (d) UIIYETE

58/2/3



B) __ formulates the Monetary Policy in the economy.
(Fill up the blank with correct alternative) 1
(a) Commercial Banks (b) International Monetary Fund
(¢) Central Bank (d) Central Government

8. (A) Read the following statements carefully :
Statement 1 : Gross Domestic Product (GDP) is the sum total of the
gross market value of all the final goods and services added by
all the sectors in the economy during a fiscal year. 1
Statement 2 : Gross Value Added at Market Price (GVA;p) is equal

to the excess of value of output over intermediate consumption.
In the light of the given statements, choose the correct alternative
from the following :
(a) Statement 1 is true and Statement 2 is false.
(b) Statement 1 is false and Statement 2 is true.
(¢) Both Statements 1 and 2 are true.
(d) Both Statements 1 and 2 are false.
OR
(B) On the basis of the figure given below, identify the type of flow
indicated by B and D :

(Choose the correct alternative) 1
-~ ~
~ = -~
Alternatives :
(a) Real flow (b) Money flow
(¢) Nominal flow (d) National flow
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9. Assuming that, the following data is given for an imaginary economy : 1

Year | 2020 R in Cr.) | 2021 R in Cr.)

Items

Exports of visbles 1,000 1,100

Imports of visibles 800 850
The balance of Trade from 2020 to 2021 by % crore.

(Choose the correct alternative)

(a) 1increased, 200 (b) decreased, 200
(c) 1increased, 50 (d) decreased, 50

10. (A) Read the following statements — Assertion (A) and Reason (R).
Choose one of the correct alternatives given below : 1
Assertion (A) : At the break-even level of income, the value of
Average Propensity to Consume (APC) is zero.

Reason (R) : Sum of Average Propensity to Consume (APC) and
Average Propensity to Save (APS) is always equal to one.

Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is
the correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true and Reason (R) is
not the correct explanation of Assertion (A).

(¢) Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false, but Reason (R) is true.

OR
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B)

11. (a)

(b)

refers to that level of Aggregate Demand, which can be met by

the corresponding supply in the economy.
(Fill up the blank with correct alternative)
(a) Autonomous Consumption (b) Effective Demand

(¢) Excess Demand (d) Deficient Demand

“Under the flexible exchange rate system, the Central Bank does not
intervene in the foreign exchange market.”
Justify the statement, giving valid arguments.
OR
Explain the impact of home currency depreciation on the exports of a

nation.

12. On the basis of the data given below for an imaginary economy, estimate

the value of Gross National Product at Market price (GNPyp) :

S. No. Items Amount
(X in crore)
1) Household Consumption Expenditure 2,000
(11) Government Final Consumption Expenditure 1,000
(111) Gross Fixed Capital Formation 1,100
@iv) Net additions to Stock 200
v) Exports 600
(vi) Net factor income from abroad 150
(vi1) Imports 400

13. With suitable examples, distinguish between Direct taxes and Indirect

taxes.

58/2/3
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14. “The process of credit creation by commercial banks comes to an end when
the total of required reserves become equal to the initial deposits.”
With the help of a numerical example, prove that the given statement is

true. 4

15. (a) “In an economy Planned spending is more than planned output”.
Explain its impact on the level of output, income and employment. 4
OR
(b) For a hypothetical economy, assuming there is an increase in the
Marginal Propensity to Consume from 80% to 90% and change in
investment to be ¥ 2,000 crore. 4
Using the concept of investment multiplier, calculate the increase in

income due to change in Marginal Propensity to Consume.

16. (a) (1) “Many goods and services which may contribute to welfare, but
are not included in estimating Gross Domestic Product (GDP).”
Do you agree with the given statement ? Give valid reason in
support of your answer. 3
(1) With suitable examples, distinguish between final goods and
intermediate goods. 3
OR
(b) (1) Using a suitable numerical example, distinguish between Real
Gross Domestic Product (GDP) and Nominal Gross Domestic
Product (GDP). 4

(i) State the meaning of ‘normal resident’ of a country. 2
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17. Read the following text carefully and answer the given questions on the

basis of the same and common understanding.

On 30th September 2022, the Reserve Bank of India (RBI) raised Repo
Rate for the fourth time in a row. The Monetary Policy Committee (MPC)
decided to raise the policy rate by 50 basis points

1
(1 basis point = mth of a percent) . After this announcement, the new

repo rate stands at 5.9%, while the reverse repo rate continues to stand at

3.35%.

Commercial banks borrow money from the Central Bank, when there
is a shortage of funds. With the surge in the repo rate, borrowings by
general public will become costlier. This is because, as RBI hikes its repo
rate, it becomes costly for the banks to borrow short term funds from the

Central Bank.

As a result, the banks hike the rates at which customers borrow
money from them to compensate for the hike in the repo rate. This
happens because banks offer loans to retail consumers at an interest rate

which is generally, directly proportional to the repo rate.

The increase of 0.50 percent in repo rate will lead to a higher interest
rates on loans for borrowers, implying that the Equated Monthly
Instalments (EMIs) for repaying the existing loans will also increase.

Source: https://www.businessstandard.com/article/economicpolicy/rbi-monetary-

policy-repo-rate-up-by-50bps-here-s-how-it-will-impact-you-122093000267 (Edited)

(a) Differentiate between repo rate and reverse repo rate. 2

(b) Outline and discuss the measure taken by the Monetary Policy

Committee of Reserve Bank of India to control inflation. 4

58/2/3 {11 > P.T.O.



TUE - @
(VT Srefegrereen ot ferenma)
18. fr=Afaifaad el 1 eagdes 31899 i 1

FUA 1 : = 3 = o foreht qama o, glamTa STfefes e <t yeatTd 6 off |

wUA 2 : fagHl &1 7 & fob, wra o anfies gumi i wfkan 3 @i snifefes wehaent I
GUE HL e e |

few T et % et H, frefafaa O @ @ fashed w1 = Hifs

(a) FUT1TITEINHYT2 IS |

(b) FUT]1IFILINFAA 2T |

() FUT1IN2SH TS |

(d) o 13K 2 gHI T E |

19, fwfetiige 5 @ o SO shifd® o1 Toh o T o1 ? (F@ o wrammsl) 1
(a) FIHI H A H (G |
(b) T T HSIIA ITQI o 3G H 15 |
(c) el d Hfseri & 3euted 9 fraafa o 3fg |
(d) Tfior & | ATl I US|

20. 3Tafafires s e o G faeeft =R & wed # fr=fefea & @ o1 o1 wuF 9
Te? @@ e w T H) 1
(a) YA ! S SATIR TS hT ATHAT HTAT U7 |
(b) TE ITEH hi Ufqaerenss =i o1 urer febam I |
(¢) Torea 3 wa = Taia o 3TTd WX UehiRrehTiieh fHsor s w@m o |
(d) 9 Tfies IcaTel ST fafae o IR SuMTeRTT IEq3TT ST TTITdeh S 7T T |

58/2/3



Section - B

(Indian Economic Development)

18. Read the following statements carefully : 1

Statement 1 : China introduced structural economic reforms on its own,
without any pressure.

Statement 2 : Scholars argue that in India, the economic reforms process
led to the worsening of all the economic indicators.

In the light of the given statements, choose the correct alternatives from

the following :

(a) Statement 1 is true and Statement 2 is false.

(b) Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d) Both Statements 1 and 2 are false.

19. Which of the following was NOT the benefit accruing from ‘Golden
Revolution’ ? (Choose the correct alternative) 1
(a) Increase in the income of the farmers.
(b) Increase in production of milk and related products.
(¢) Increase in production and exports of fruits and vegetables.

(d) Employment for women in rural areas.

20. Which of the following is NOT true about foreign trade during the colonial
rule ? (Choose the correct alternative) 1
(a) India suffered from large trade deficit.
(b) Restrictive policies of commodity production, were followed.
(¢) Britain maintained a monopoly control over India’s exports and
imports.
(d) India became an exporter of primary products and an importer of

finished consumer goods.
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ST TR 8 |

(¢) IANHUT (A) T 7, A1 RO (R) ITA R |

(d) 3R (A) 3 &, Al ST (R) TF © |

3AUdn

wfiferch oft 1 o et Fsh st 1 freran & Sreife e ot o % @~

Y g ot WeH A 2 | (wrét fershed graT, Tk T <61 g i)

(a) TEEH (b) M
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21. A is a process, which includes all the activities from sowing till
sale of the final produce in the market.

(Fill up the blank with correct alternative) 1

(a) Rural Development (b) Agricultural Diversification
(¢) Organic Farming (d) Agricultural Marketing
OR
B) have emerged as an important micro finance system and led

to women empowerment. (Fill up the blank with correct alternative) 1
(a) NABARD (b) Self-Help Groups
(¢) Commercial Banks (d) Land Development Banks

22. (A) Read the following statements — Assertion(A) and Reason (R).
Choose one of the correct alternatives given below : 1
Assertion (A) : Human capital is not traded in the market; however

its services are traded.
Reason (R) : Human capital is intangible in nature.
Alternatives :
(a) Both Assertion (A) and Reason (R) are true and Reason (R) is
the correct explanation of Assertion (A).
(b) Both Assertion (A) and Reason (R) are true and Reason (R) is
not the correct explanation of Assertion (A).
(¢) Assertion (A) is true, but Reason (R) is false.
(d) Assertion (A) is false, but Reason (R) is true.
OR
(B) Benefits of physical capital accrue only to private entities, whereas
human capital provides private as well as __ benefits.
(Fill up the blank with correct alternative) 1
(a) profitable (b) social
(¢) fiscal (d) monetary
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23.

frefafiaa sl o YR W Hehal T 3ATE (GDP %) it a1fies gfg @ & e #
ﬂawa‘ﬁwaﬁ: GRACEIZEIRCEEEETY

Tehel T¥e] IcdTE <hl 1Sk afig a7 (%). 1980 — 2017

W 1980 - 90 | 2015 - 2017
IRd 5.7 7.3
iG] 10.3 6.8
RlET=SIC] 6.3 5.3

Source : Key Indicators for Asia and Pacific 2016. Asian Development Bank.
Philippines : World Development Indicators 2018.

ICETe

(a) 1980 o &I | = TN C&TS 37ehi H g L SHIC T H 9&T T |

(b) 1980 — 2017 o TEH UTfehEa WRA & 3T o |

(c) 2015-17 % SR YR - Thel I 391G (GDP) H et g o1 3739a fomam e |
(d) 2015-17 % A = 3 TIfREa™ S A Ifg T H Frrae 1 31gwa foram o |

24. TH fIaTAT H STe THIEAT o SR hT G THIEAT oGS ! ¢ ¥ A Bl &, al
e HElad g g | (Tt forhed gry, ek o <61 g o)
(@) 39 & SHAT H (b) T STEINTOT &THAT B IR
(c) 3Tt & egmaT | I (d) 3T Hied amar @ 3T

25. wiad — I 1 feu 7 gre13ti o He 9 wiom - 11 9 feu Tu wefa aui § 9 sre g™ &1
TIT R

e - 1 e — 11

A. | IR | o 1 IET (i) 1850
B. | TISCO &1 = (ii) 1807
C. | WA &1 YT JTIIHTIS SHITIMT (iii) 1881
D. | & TE 1 Gal (iv) 1869

farerea

(a) A-(@ (b) B — (i)

() C—(ii) (A D-—(@v)
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23. On the basis of the data given below, identify the incorrect statement in

terms of annual growth of GDP (%) : (Choose the correct alternative)
Annual Growth of Gross Domestic Product (%). 1980 — 2017
Country 1980-90 | 2015- 2017
India 5.7 7.3
China 10.3 6.8
Pakistan 6.3 5.3
Source : Key Indicators for Asia and Pacific 2016. Asian Development Bank.
Philippines : World Development Indicators 2018.
Alternatives :
(a) China was able to maintain near double-digit growth during the
1980s.
(b) Pakistan was ahead of India during 1980 — 2017.
(¢) India experienced a rapid rise in Gross Domestic Product during
2015-17.
(d) Both China and Pakistan experienced a decline in growth rate
during 2015-17.
24. In an economy, when the rate of resource extraction is lower than the rate
of regeneration of the resource, the environment may operate
(Fill up the blank with correct alternative)
(a) within its carrying capacity. (b) beyond its absorptive capacity.
(¢) beyond its carrying capacity. (d) Dbeyond its aesthetic capacity.
25. From the set of the events given in Column — I and the corresponding year
in Column —II, choose the incorrect pair :
Column -1 Column - 11
A. | Introduction of railways in India | @) 1850
B. | Incorporation of TISCO (i1) 1807
C. | First Official Census of India (111) 1881
D. | Opening of Suez Canal @1v) 1869
Alternatives :
(@ A-@ (b) B-(@)
(¢ C-—(ii) (d D-@Gv)
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26. (A) =T 1958H <1 3T i, TTEehT 383 o8 TUT WR W T ST
HET YT | (Tl fopen g, e A T gfd &) 1
(a) &M TEERI Aiwehiceh Shifd (b) foraw amfefer & Y T

(0 3Tie GuRY hl EarTd () I A BraE AfEH
Freran
(B) I o ToHIfdeh 0 o1 1 eliehdi=es Wit sht T o Teh 3U™
T S HATE | (Tl fashed g, fd A A gfd opl) 1
(a) W ferehre gorehieh (b) TG Tohaih
(c) iieh fereprar @) e g
27. freferfiga et w1 eamyes 315 i 1

HUAA 1 : WA, ATl o < | A, <G8 o1 o SHEEI gcdl ITeA1 T 2 |

YA 2 : < 1970 % €I b 37d H TR hl TE Tehel STeteh AT 8 SHGEAT Ifg X H
SHThT T AT off |

feu T ket % arreties #, frfafad § @ ot fashen 1 9= AifvT -

(a) FUT 1T IANHYT2 IHAE |

(b) FUT1IFILINFAT 2T |

(© Y12 TAE |

(d) U132 SHI ITAE |
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26. (A) China initiated in 1958, that aimed at industrializing the

country on a massive scale. (Fill up the blank with correct alternative) 1

(@)
(b)
(©
(d)

B)

The Great Proletarian Cultural Revolution
Setting up of Special Economic Zones
Introduction of Economic Reforms
The Great Leap Forward Campaign

OR

acts as a measure of ‘the extent of democratic participation in

social and political decision-making.’

(@)
(©

27. Read the following statements carefully :

(Fill up the blank with correct alternative) 1
Human Development Index (b) Liberty Indicator

Economic Growth (d) Poverty Index

Statement 1 : Amongst India, China and Pakistan, China is the largest

nation and has the highest population density.

Statement 2 : One-child policy introduced in the late 1970s in China led

to a considerable decline in the population growth rate.

In the light of the given statements, choose the correct alternative from

the following :

(a) Statement 1 is true and Statement 2 is false.

(b) Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d) Both Statements 1 and 2 are false.
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28. “BHR UE o wfasy ) @& & o sheq Icesia 9 fagen sterwas 2 17

| i RN |
1 I e |
| Jesey | |
1 5 = n u 1
| TP e Rl |

YU HUA 3R 3 & 311eirs o 39 Afvges a1 @ fued & fore ol @ wrfifeat w
=i L |

29. (a) “gIol & H, YR TR 7 HiY fafaefientor & aream o Fuehi 61 37 sH i fean §
3 e I3 E 7
TR Y o el B By H fafaefiertor & fepedf <) oo Y e 6t |
e
(b) “qra | e o ey & 89 H Glh N 1 Hishd S&T 9T @ |7
AT 3179 T 7T U & Tgud & 7 379 I b THH H BRI |

30. (a) “r@ W UWEIUT (On the Job Training) W foha T == refeeen § e Ysit
Tt =1 Uk TRl FEA R 1
few T a6t w1 RO gRT g W |
JUA
(b) “amvfta foshra 1 WicaTfad i o fore Sfaes wedt wwar 6t | 7, W gEeh! 30T
%o Hu d 17
UL HYH % ITelieh 1 Afereh Teft o Tepegl a1 ool o Hhmnati <1 eq8 i |
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28. “In order to protect the future of our planet, it is important to tackle

carbon emissions.” 3
[ ] AR |
| ey { |
1 m [ | [ ] 1

In the light of the above statement and image discuss any two strategies

to tackle this global concern.

29. (a) “Recently the Government of India has taken numerous steps
towards increasing the farmer’s income through agricultural
diversification.” 3
In light of the above statement, explain any two advantages of
diversification in agriculture.

OR
(b) “Active Government intervention is essential in education and health
sectors in India.”
Do you agree with the given statement ? Give reasons in support of
your answer. 3

30. (a) “Expenditure on On-the-job training is an important means of
human capital formation in an economy.”
Give valid reasons to justify the given statement. 4

OR
(b) “Organic Farming is the need of the hour to promote sustainable

development but, has its own limitations.”
Elaborate any two advantages and limitations each of organic
farming in the light of the above statement. 4
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31. “9Rd # Y 3uH (Subsidy) W farr— d=i | sz 2t wedt & 1”7
Y IuEHT 1 ST @ % fomer 3 fonedl 1 qen! =il i |

32. feu T 3Tfehgi & AR T

@
(1)

33. (a)

(b)
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Teh—Ueh 3T Hehdeh o TR Fehdeh ol Tge i |
9T (i) ® U= T Forelt T Hehdeh o TR W WA o <14 <hl goiT ot |

(i) s -SrErE 7T <t qRYTST € | 38eh! Tt Sl fere=rmr Y |

(i) ST frem oft W % 3T Hfium w s wieries =EE | 3,
T 3Tk HATd ScATEHAT A 7 |
sfioT =Y % TorTR bt T o fooquft it o 379 STt & wme H A= BRI |

Jreran

()  ‘wTeaT A9 UGN & Wd H 1 Ll &, IH A1 dl Tehe 9 1 &1 3T o & H
YA e ST g |
FIT 3 Ak b ®9 | iffeha foRam ST Teha1 § 7 310 I 6 THeA | 9y
S |

(i) “1990 % Th & 37d § YA 7 Hehel Te] 391G (GDP) i ghg T TSR
Yo o HET Ueh SATIeh ST 3799d Tk o |” faa=mn =t |




31. “The debate over farm subsidies in India is enraged at different

platforms.”
Discuss any two arguments against farm subsidies.
32. On the basis of the given data :
(1) Identify one income indicator and one health indicator, each. 2
(i1) Compare India and China on the basis of any one of the indicator
identified above in part (i). 2
33. (a) (@) Define Worker Population Ratio. Discuss its usefulness. 3
(i1) ‘Mr. Rishi, after completing his education, has joined his family
business but his marginal productivity is zero.’
Comment upon the employment status of Mr. Rishi. Give valid
reasons in support of your answer. 3
OR
(b) (@) ‘Kavya works on her family farm and is neither paid in cash nor
in the form of grains.’
Can she be categorized as a worker ? Give valid reasons in
support of your answer. 3
(1) “In the late 1990’s India experienced a widening gap between
the growth of GDP and employment generation”. Discuss. 3
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34. frafafed T &1 eamyEs SereE S aun U Tu gl w1 3T 36 9 9 9E %
IR TE |
1991 & “31fefes GERI” & 3TarTd IRY fohe U wenfresepdt 9 TraHTaTe FHTRIS 3T
3 i o anifes fferll 3 e Weretfies o 1 fafad o o | TadEd % o evR! e
Ra < foremr worifa o amffes ifaat amfsies = o TaeaT < @ Scited o U |
e gfig @ % ez & Fadfra off |
1970 & vt | Ig NS fohar wr foh, 3miieie wfatafert w g frami <At u=nfiran
TuT B Tehl & qT arad | 3 3ATIeh b § amereh 59 &1 8 | 8% Jfd 3Tt H 8N o
1980 o T3 o YRH ¥ FB T ICRIHI LRI hl JE3TTT 61 ot |
BTeAlTeh, WA STefererer o1 3fter & Tl Hehe o1 HHHT hiAT 9T 9T THumEesy
() et s Hiar st AT
(i) TRl YA ! G,
@ii) TR gerehifasit gamE;
(iv) SATEaYIH T3 HI Ul
(v) TSI TemeH § frree snfe; & wror arde steferawen s dwe % R
g TS of |
39 ITA BT The <hl UTAMRAT H TR A H8 TTRIHRI 9 Gia-TcHes LRI i IE foha
I
() TN E1e | wHl;
(i) HgT I ¥ gfg T
(i1) fafma e wureE vomeft anfe |
Tt fifa 1 geT Iex Tmy " & Tk o refeqawen % i
forehTa Ter & ITTEY M AT |
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S
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i&u::(;fniti. ov.in/planningcommission.gov.in/docs/reports/genrep/arep9099/at94-95.htm

(a) 1991 % 31iieh GURT <l AL T % Febedl < HoTt ohl =i B | 3
(b) “1991 H I9Td §U AT Hehe o T I H, TR F TATRIEhRT 3T TLTCHS
FUR IR fopw o |7
W fopedl i SuT <h1 Haig § s e | 3
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34. Read the following text carefully and answer the given questions on the
basis of the same and common understanding.

The stabilisation and structural adjustment measures, initiated under the
1991 “Economic Reforms” mark a watershed moment in India’s economic
policies. For almost three decades since independence, India’s development
strategy and economic policies were guided by the objectives of accelerating
the growth of output and employment with social justice and equity.
Ever since the 1970’s, it was realised that many of the regulations on
economic activities have outlived their usefulness and were in fact
hampering economic growth and development. In response to this, the
government initiated some milder liberalisation reforms for almost a
decade since the early 1980’s.
However, the Indian economy soon had to face the Gulf crisis and
consequently :
(1) The uncertainties about the oil prices;
(i1) The external payment problems;
(111) The serious inflationary pressures;
(iv) The scarcities of essential commodities;
(v) The deterioration of fiscal discipline, etc.
These led to the Indian economy on the verge of Economic crisis.
In response to this emerging crisis, the Government initiated a set of
stabilisation and structural reforms like :
(1) Reduction in fiscal deficit;
(1) Containment of growth in money supply;
(111) An exchange rate adjustment system etc.
The key objective of stabilisation policy was to bring the growth of
aggregate demand in line with long term growth path of the economy.
In conjunction, the structural adjustment measures like;
(1) industrial delicensing
(i1) liberalisation of policy regime governing international trade
(i11) deregulation of financial sector
were taken to improve the supply side of the economy. This shifted
the long-term growth path of the economy itself completely.
(Adapted and modified)

Source :
https://niti.gov.in/planningcommission.gov.in/docs/reports/genrep/arep9099/at94-95.htm

(a) Discuss any two reasons behind the introduction of Economic
Reforms in 1991. 3
(b) “In response to the emerging crisis in 1991, the Government initiated
a set of stabilisation and structural reforms”.
Briefly discuss any three of such measures. 3
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